[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

1. 0R

Ratio

10 PSP ST IS R O

0.950 HHAHHEHHAERHHEFH 4o

+

0.0 :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL

Effici —e— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2
ICIeNd __,__ pQM_TT__MODIFIED_propToPlane_PRVersionFINAL3

N 0.1: . : : : :
.00 -+t eee{-deveene i .
n E : : : . :
20.08------ R AU O S
> E : . . M .
2 E : : : : :
G007 ooy
Q o : :
£0.06F koo ]d
[} E : :

S A

0.04f -t 44t

0.03F -+t {-4H]

0.02F -+ rieeene]-

0.01F----------{-4F
.0

Ratio

H
T
¥

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05

> E : : : :
Q-0.45F - fTye A s
£ E : : : : :
(p OAf b
L S B At I AU
a E B H H H .
e e S
o : : : :
@] F ' . H . H
E0.25F e CRRRLLITRERRRE, o
[J] F B H H .
O S A S S
T T RN SR SN S
T A R
Yo SOOI SO SO Lm__L+
L PRI :
n§-| + "+ I'"."...I++.++ ++ L
O +wi 0 o :
s A - -
2 [l
]_:r --n—wi--qr-- .-k - B SRR
0B =5 0 5 0 15 20

éim. PV z (cm)



	Contents
	Page 1


